# **Arrowhead Metropolitan District**

TO: ARROWHEAD METROPOLITAN DISTRICT

**BOARD OF DIRECTORS** 

FROM: Beth Johnston, Secretary for the meeting

DATE: April 4, 2024

This memorandum shall serve as a reminder of special meeting of the Board of Directors of the Arrowhead Metropolitan District, Eagle County, Colorado, will be held on **Monday, April 8, 2024, at 3:30 p.m. via electronic Zoom meeting**. There is no in-person attendance option for this meeting.

Join Zoom Meeting

https://us02web.zoom.us/j/88998870889

Phone Only +1 253 215 8782 US Meeting ID: 889 9887 0889

This meeting will be for the purpose of considering proposals for the Highway 6 safe crossing roundabout construction project and other matters that pertain to the Arrowhead Metropolitan District. Please confirm that you will be attending the meeting.

A meeting packet may be downloaded from the website https://www.arrowheadco.com/metro-district-2.

#### **DISTRIBUTION:**

Vincent Riggio, President/Chairman

Term Expires May 2025

Bill Roe, Vice President/Vice Chairman

Term Expires May 2025

Michelle Horton, Secretary

Term Expires May 2027

Steve McPhetridge, Treasurer

Robert Warner, Jr., Asst Sec/Asst Treas

Term Expires May 2027

Term Expires May 2027

Allison Ulmer, District Counsel Ken Marchetti, CPA and District Administrator Jerry Hensel, Director of Resort Operations, Vail Resorts

#### Notice, Agenda and Minutes:

George Coleman, Representative for Arrowhead Association Geoff Dreyer, Upper Eagle Regional Water Authority John Herbert, Arrowhead Gate House Randy Smith, AA representative for Hwy 6 Safe Crossing Project

#### Notice, Agenda Only:

Todd Goulding, Goulding Development Advisors Matt Wadey, Alpine Engineering

#### ARROWHEAD METROPOLITAN DISTRICT

COUNTY OF EAGLE	) ss.	
	)	
STATE OF COLORADO	)	

#### NOTICE OF SPECIAL MEETING

NOTICE IS HEREBY GIVEN that a special meeting of the Board of Directors of the Arrowhead Metropolitan District, Eagle County, Colorado will be held on Monday, April 8, 2024, at 3:30 p.m. via electronic Zoom meeting <a href="https://us02web.zoom.us/j/88998870889">https://us02web.zoom.us/j/88998870889</a>, Phone Only US 1 253 215 8782, Meeting ID: 889 9887 0889.

BY ORDER OF THE BOARD. Vincent Riggio Chairman of the Board

	AGENDA	TIME	Mins
1)	CALL TO ORDER	3:30	
	a. Declaration of Quorum & Disclosure of Potential Conflicts of Interest		
2)	CONSIDERATION OF CHANGES TO THE AGENDA	3:32	
3)	PUBLIC INPUT (for matters not already on the agenda/3-minute time limit/no disrupting)	3:32	
	a. Other public input		3
4)	REVIEW AND APPROVAL OF MINUTES	3:35	
	a. March 27, 2024		5
5)	APPROVAL OF BILLS & APPROPRIATIONS	3:40	
	a. Accounts Payable List (Beth Johnston)		5
6)	HIGHWAY 6 SAFE CROSSING PROJECT	3:45	
	a. Consideration of Proposals for Project Construction		15
	b. Review project next steps and timeline		10
7)	OTHER BUSINESS	4:10	
	a. Review Action Log		3
	b. Other Business		
8)	FUTURE MEETINGS	4:13	2
9)	EXECUTIVE SESSION, if needed, per C.R.S. §24-6-402(4)(e), Determining positions relative to	4:15	0
	matters that may be subject to negotiation, developing strategy for negotiations, and		
	instructing negotiators for parking lot improvement		
10)	ADJOURNMENT	4:15	
A n	neeting packet may be downloaded from the website <a href="https://www.arrowheadco.com/metro-dis">https://www.arrowheadco.com/metro-dis</a>	trict-2	

I hereby certify that a copy of the foregoing Notice of Special Meeting was, by me personally, forwarded to the Arrowhead Association Website Coordinator for posting on the District's website, <a href="https://www.arrowheadco.com/metro-district-2">https://www.arrowheadco.com/metro-district-2</a>, at least 24-hours prior to the meeting.

/s/ Beth Johnston

Beth Johnston, Secretary for the Meeting

## Minutes of the Meeting of the Board of Directors Arrowhead Metropolitan District March 27, 2024

A meeting of the Board of Directors of the Arrowhead Metropolitan District, Eagle County, Colorado, was held on March 27, 2024, at 3:00 p.m. at the offices of Marchetti and Weaver, 28 2nd St, Unit 213, Edwards, with an option to attend via electronic Zoom meeting, Meeting ID: 889 9887 0889, in accordance with the applicable statutes of the State of Colorado.

**Attendance** The following Directors were present and acting:

- Vincent Riggio
- Bill Roe (Zoom)
- Michelle Horton
- Steve McPhetridge (Zoom)
- Robert Warner, Jr.

#### Also in attendance were:

- Jerry Hensel, Director of Resort Operations, Vail Resorts
- Ken Marchetti, Marchetti & Weaver, LLC
- Beth Johnston, Marchetti & Weaver, LLC, recording secretary (Zoom)
- George Coleman, representative of Arrowhead Association
- Geoff Dreyer, representative Upper Eagle River Water Authority (Zoom)
- Randy Smith, Arrowhead Association (Zoom)
- Jamie Peters, Bachelor Springs HOA Board (Zoom)
- Skip Krawczyk, Bachelor Springs HOA Board
- Joleen Jackson, Bachelor Springs HOA Board (Zoom)
- Tim Monson, Bachelor Springs HOA Board

#### Call To Order

The meeting of the Board of Directors of Arrowhead Metropolitan District was called to order by Director Riggio on March 27, 2024, at 3:00 p.m. noting a quorum was present.

# Disclosure of Potential Conflict

#### Of Interest

The Board noted that it has received certain written disclosures of potential conflict of interest statements from Director Warner more than seventy-two hours prior to the meeting, indicating that Director Warner is a Board Member for Eagle River Water and Sanitation District, a former Builder/Developer in the District, a member of the Eagle County Planning Commission and Board of Adjustment, and President of the McCoy Springs at Arrowhead Homeowners Association. The Board noted, for the record, that this disclosure is restated at this time with the intent of fully complying with laws pertaining to potential conflicts of interest.

#### Arrowhead Metropolitan District Board of Directors March 27, 2024, Meeting Minutes

#### Consideration

Of Agenda

Consideration of the 2024 Aqua Sierra proposal was added under Approval of Bills and Appropriations.

#### **Public Input**

Bachelor Springs HOA Sidewalk Discussion: Several members of the Bachelor Springs HOA Board of Directors attended to make a presentation to the District requesting a sidewalk from Bachelor Springs to Arrowhead be considered in conjunction with the Highway 6 Safe Crossing Roundabout project. Mr. Monson presented a map showing current conditions at the Bachelor Springs entrance, no safe crossing across Highway 6, and gave examples of incidents that occurred along Highway 6. Mr. Monson reviewed funding sources for the roundabout, in particular contributions from Arrowhead Association. Mr. Monson asserted that Bachelor Springs does not benefit from the roundabout as currently designed, the owners pay taxes into the District and do not receive the services other areas of Arrowhead receive, and the community was not notified of nor consulted about the project, in particular they were left out of the homeowner's survey in October 2023.

Director Riggio responded that this project has been discussed at AMD public board meetings for multiple years and that public notice of all AMD's meetings is diligently provided. Public participation in Board meetings is welcome and appreciated so from the District's perspective the Bachelor Springs community was notified similar to the rest of AMD's constituents. However, Director Riggio confirmed that Bachelor Springs was inadvertently left out of the survey and apologized for the omission. However, the responses would most likely not have made a difference in the overall outcome of the survey or project based on the overwhelming support received for the project and processes are in place to include Bachelor Springs in future communications. General discussion was had on how to include Bachelor Springs in the project process and how to rebuild relations between the Boards.

Director Roe then explained that the proposed project is not feasible for several reasons:

1) Several years ago, the Arrowhead Metro District (AMD) had studied the idea of solving the problem of safe crossing of Hwy 6 by building a sidewalk that would run from the Arrowhead east gate along the south side of Hwy 6, extending past all three south gates and all the way to Miller Ranch Road. AMD opted not to do that because it was an incomplete solution to our problem. With strong encouragement from CDOT, AMD decided that a roundabout at the Arrowhead main gate would be the best solution for both pedestrians and bicyclists, as well as for automobiles

#### Arrowhead Metropolitan District Board of Directors March 27, 2024, Meeting Minutes

coming in and out of the main village given the expected increase in traffic in future years. Had AMD opted to build a sidewalk connecting the three south entrances to Miller Ranch Road, it might have been able to justify extending the sidewalk to Knudson Ranch. But as a stand-alone capital project, connecting the Arrowhead east gate to Knudson Ranch with a sidewalk makes no practical or economic sense.

- 2) The project proposed by Bachelor Springs would be of essentially no use to the 731 tax-paying households within Arrowhead. The only AMD constituents that would use the amenity are the 26 units within Bachelor Springs. The bulk of the cost would be borne by AMD. Arrowhead represents greater than 98% of the AMD tax base, while Bachelor Springs represents less than 2%. That is around \$26,000 per year from Bachelor Springs, an amount that does not even cover the existing services provided by AMD (winter snow removal and periodic road maintenance and repairs). Arrowhead taxpayers would be absorbing the six-figure cost of the project, an outcome that would not be tolerated by Arrowhead residents.
- 3) AMD is substantially drawing down cash reserves to complete the Hwy 6 roundabout project, and it will take several years to restore our reserves to more normal levels. Even if we could justify the Bachelor Springs proposed sidewalk proposal, which we cannot, there are insufficient funds available to do the project, now or in the next several years.

General discussion continued on how the District can help fund a safe connection or passage between Arrowhead Village and Bachelor Springs community. Director Riggio offered to meet individually with the Bachelor Springs HOA Board for further discussion and look into alternative connection options.

There was no other public input.

#### **Minutes**

The Board reviewed the minutes included in the packet. Upon motion duly made and seconded, it was unanimously

**RESOLVED** to approve the minutes for February 28, 2024, as presented.

# Accounts Payable

The Board reviewed the Accounts Payable list. Ms. Johnston explained the refund of the overpayment made by Holland Creek Metropolitan District. By motion duly made and seconded, it was unanimously

**RESOLVED** to approve the updated Accounts Payable list as presented.

#### Arrowhead Metropolitan District Board of Directors March 27, 2024, Meeting Minutes

#### Aqua Sierre Agreement

Ms. Johnston presented the 2024 Aqua Sierra agreement explaining that the agreement amounts were included in the 2024 budget and reviewed by the Budget Committee during budget preparation. Following discussion on the services, and by motion duly made and seconded, it was unanimously

**RESOLVED** to approve the 2024 Aqua Sierra Proposal.

#### **Gate and Parking Lot**

#### **Discussion**

Mr. Hensel reviewed the parking lot control and gate proposal from last fall. Mr. Hensel confirmed that there was no further discussion on installing a gate at the parking lot and conversation moved to how to manage the parking lot. Mr. Coleman said that overall, the parking lot control has been fine and that a few inappropriate incidents had been dealt with. Mr. Hensel explained that conversations on parking lot management will be on-going to ensure efficiencies are in place and the parking lot is being managed properly. General discussion continued on the role of Public Safety and traffic concerns at the skier drop-off circle.

# UERWA Update

Mr. Dreyer gave the following update:

- Approved the dedication of 16-acre feet of Eagle Park Reservoir water for service to proposed new construction on the Colorado State Land Board parcel in Eagle-Vail for an affordable housing project by the Town of Avon. The housing project could take 25 years for full build out.
- Updated Rules and Regulations have been approved. Director Warner commented that the changes were relatively minor.
- The Upper Eagle Regional Water Authority and ERWSD are contracting with the Ferguson Group to pursue grants for Bolt's Lake and other grants.
- Bonds were issued at a favorable interest rate.
- Black and Veatch were hired as the Bolt's Lake project managers.
- Bolt's Lake testimony by Siri Roman in support of the Bolt's Lake Ditch Act so UERWA has the right to maintain the ditch. The District's resolution of Support was received.
- There was a joint meeting between ERWSD and UERWA regarding the Shoshone call with an ask of \$1.5 million between the District and UERWA and that amount will be reviewed at the next meeting.

# Arrowhead Association

Mr. Coleman reviewed the notes circulated to the Board via email prior to the meeting and updated the Board on the following:

#### Arrowhead Metropolitan District Board of Directors March 27, 2024, Meeting Minutes

- Gate maintenance is ongoing, materials have been received and all gates should be functioning properly by spring.
- A tennis contract agreement has been signed with Beyond the Baseline Tennis.
- Preliminary discussions have begun with Bachelor Springs regarding their being subject to Arrowhead Association DRC review. He reviewed the provision in the District's inclusion agreement and the current discussions on options, such as annexing Bachelor Springs into Arrowhead Association or charging higher review fees to cover the full costs involved. Ultimately, whatever option or adjustment is made will come before the District. There was general discussion on Bachelor Springs annexing into the Arrowhead Association.
- A committee was formed to investigate the traffic flow around the Alpine Club traffic circle skier drop off.
- Randy Smith and Dan Gallagher have been named as Directors Emeritus to Arrowhead Association to allow them to speak and participate in meetings, but they do not have a vote.
- There was general discussion on the new security procedures at the gates.

## **Highway 6 Safety**

#### **Project**

Director Riggio updated the Board on the following:

- There was a conversation with Arrowhead Association about purchasing landscape material for the roundabout project through the District.
- C-DOT has reviewed the transfer deeds for the right of way acquisition, and they are currently with the District's attorney for final review.
- The project is still on track for a May 1 start date.
- Contractor bids are due by end of day 3/28. The project team will review and tabulate the bids and present a recommendation for the Board. There was general discussion on the proposals submitted so far and that one expected contractor has decided not to submit due to a scheduling conflict.
- There was general discussion on calling a special meeting to review the proposals and select a contractor, when the access permit will be issued, and options for the Board to select a contractor prior to receipt of the access permit but with entering into a construction contract to be subject to receipt of the CDOT permit. Following discussion, the Board requested a special meeting be scheduled for April 8 at 3:00 pm [subsequently changed to 3:30 pm] via remote Zoom meeting only to consider the project proposals.
- The landscape plan has been submitted to CDOT and awaiting comments.

# **Operations**

## Report

Mr. Hensel reported the following:

• Gave background on the EV charger project and all installed chargers are working well. The chargers have about 150 charges to date with revenues

#### Arrowhead Metropolitan District Board of Directors March 27, 2024, Meeting Minutes

- exceeding the electric expense. The chargers are listed on the EV Charger maps and any EV can use the chargers.
- The new truck is ready for pickup and came in under budget. The spreader and plow came in about \$5,000 over budget. The plow and spreader can be installed now or in the fall. The Board approved the additional funds for the equipment and directed that the overage be taken from the capital contingency budgeted for 2024.
- Numbers for installing the guardrail along Sawatch Drive should be received soon.
- They are still one employee short and having minor equipment issues. Overall, the Board is happy with snow removal operations for the season.
- ERWSD will be replacing the water line under the lift starting April 20 with project completion expected in fall 2024. The Cresta Gates will need to be removed to allow truck access during the project. There will be no Cresta Gate or cameras from April 20 through Memorial Day while ERWSD, at their expense, will remove and reinstall the Cresta Gate about 50 feet back from the current location to facilitate truck traffic for the project. There was general discussion on pedestrian access to Cresta Rd during the project and rerouting two trails that traverse the project construction area.

#### **Finance**

Mr. Marchetti review the financial statements for period ending February 29, 2024 included in the packet. There is not a lot of activity so far and overall things are tracking as expected. There was a larger fund balance than anticipated at the end of 2023. Sales tax is coming in slightly lower than expected, which is what is being seen throughout the county.

#### **Action Log**

The Board reviewed the Action Log in the packet and requested Management update as needed.

## Future Meetings

The Board called a special meeting for April 8 at 3:00 pm and confirmed the next regular meeting on April 24, 2024, at 3:00 p.m.

\*\*Subsequent to meeting adjournment, the special meeting start time was changed to 3:30 pm due to a scheduling conflict\*\*

**Adjournment** There being no further business to come before the Board, by motion duly made and seconded, it was unanimously

**RESOLVED** to adjourn the meeting of the Arrowhead Metropolitan District Board of Directors this 27th day of March 2024.

# **Arrowhead Metropolitan District Board of Directors March 27, 2024, Meeting Minutes**

Respectfully submitted,

Beth Johnston Secretary for the Meeting

#### ARROWHEAD METROPOLITAN DISTRICT

**Accounts Payable** 

Period: March 22 through April 3, 2024

#### Vendor Payables to be Approved and Ratified at Meeting:

PAYEES	AMOUNT	DESCRIPTION	REVIEWED, APPROVED BY
Bobcat of the Rockies	7,397.24	toolcat repair - remaining amount due	Jerry Hensel, Board
Goulding Development Advisors	10,016.00	Roundabout Project owners Rep Jan-Feb	Jerry Hensel, Board
McDowell Engineering	2,440.00	Hwy6 Safe Cross Proj update traffic study	Jerry Hensel, Board
Total Payables to be Ratified and Approved	19,853.24		
BOARD MEMBER PAY to be ratified at meeti	ing:		
Michelle Horton	92.35	March 27, 2024	
Steve McPhetridge	92.35	March 27, 2024	
Vincent Riggio	92.35	March 27, 2024	
William Roe	92.35	March 27, 2024	
Bob Warner	92.35	March 27, 2024	
TOTAL ACCOUNTS PAYABLE	20.314.99	TO BE APPROVED AND RATIFIED	

<sup>\*</sup> Items in Italic have been paid and are included for ratification

4/3/2024 0:00

printed: 4/3/2024

# AHMD- HIGHWAY 6 ROUNDABOUT BID TAB - AMENDMENT 4/2/2024

				Nottin	gham	360 Civil		Ewing		Schofield	
PayItemID	PayItemDescription	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
201-00000	CLEARING AND GRUBBING	1	L.S.	\$45,430.00	\$45,430.00	\$3,250.00	\$3,250.00	\$17,000.00	\$17,000.00	\$49,000.00	\$49,000.00
202-00010	REMOVAL OF TREE	1	EACH	\$2,704.00	\$2,704.00	\$420.00	\$420.00	\$750.00	\$750.00	\$640.00	\$640.00
202-00019	REMOVAL OF INLET (storm MH and Type C)	2	EACH	\$6,385.00	\$12,770.00	\$2,500.00	\$5,000.00	\$2,500.00	\$5,000.00	\$3,550.00	\$7,100.00
202-00035	REMOVAL OF PIPE	508	L.F.	\$89.00	\$45,212.00	\$24.00	\$12,192.00	\$50.00	\$25,400.00	\$55.00	\$27,940.00
202-00220	REMOVAL OF ASPHALT MAT	4908	S.Y.	\$19.00	\$93,252.00	\$9.00	\$44,172.00	\$8.50	\$41,718.00	\$18.50	\$90,798.00
202-00240	REMOVAL OF ASPHALT MAT (PLANING)	682	S.Y.	\$38.00	\$25,916.00	\$20.00	\$13,640.00	\$15.50	\$10,571.00	\$27.00	\$18,414.00
202-00251	REM PVMT MARKING (ASPH GROOVING)	500	L.F.	\$5.00	\$2,500.00	\$4.00	\$2,000.00	\$4.20	\$2,100.00	\$4.25	\$2,125.00
202-05026	SAWING ASPHALT MATERIAL (6 INCH)	2880	L.F.	\$15.00	\$43,200.00	\$3.00	\$8,640.00	\$9.50	\$27,360.00	\$7.00	\$20,160.00
202-00810	REMOVAL OF GROUND SIGN	2	EACH	\$225.00	\$450.00	\$195.00	\$390.00	\$500.00	\$1,000.00	\$262.00	\$524.00
203-00010	UNCLASSIFIED EXCAVATION (COMPLETE IN PLACE)	589	C.Y.	\$72.00	\$42,408.00	\$37.00	\$21,793.00	\$30.00	\$17,670.00	\$137.00	\$80,693.00
203-00060	EMBANKMENT MATERIAL (COMPLETE IN PLACE)	1150	C.Y.	\$46.00	\$52,900.00	\$24.00	\$27,600.00	\$110.00	\$126,500.00	\$137.00	\$157,550.00
203-01597	POTHOLING	10	HOUR	\$2,812.00	\$28,120.00	\$350.00	\$3,500.00	\$450.00	\$4,500.00	\$500.00	\$5,000.00
207-00205	TOPSOIL	239	C.Y.	\$156.00	\$37,284.00	\$109.00	\$26,051.00	\$60.00	\$14,340.00	\$150.00	\$35,850.00
208-00012	EROSION LOGE TYPE 1 (9 INCH)	1018	LF	\$4.00	\$4,072.00	\$5.00	\$5,090.00	\$8.00	\$8,144.00	\$6.00	\$6,108.00
208-00045	CONCRETE WASHOUT STRUCTURE	1	EACH	\$8,284.00	\$8,284.00	\$1,850.00	\$1,850.00	\$2,500.00	\$2,500.00	\$9,000.00	\$9,000.00
208-00054	STORM DRAIN INLET PROTECTION (TYPE II)	7	EACH	\$236.00	\$1,652.00	\$250.00	\$1,750.00	\$500.00	\$3,500.00	\$336.00	\$2,352.00
208-00075	PRE-FABRICATED VEHICLE TRACKING PAD	1	EACH	\$52,000.00	\$52,000.00	\$5,000.00	\$5,000.00	\$500.00	\$500.00	\$5,490.00	\$5,490.00
208-00207	EROSION CONTROL MANAGEMENT	60	DAY	\$352.00	\$21,120.00	\$75.00	\$4,500.00	\$500.00	\$30,000.00	\$234.00	\$14,040.00
210-00056	RESET UTILITY SECONDARY SERVICE PEDESTAL	1	EACH	\$1,687.00	\$1,687.00	\$3,600.00	\$3,600.00	\$9,200.00	\$9,200.00	\$2,140.00	\$2,140.00
210-00810	RESET GROUND SIGN	2	EACH	\$773.00	\$1,546.00	\$600.00	\$1,200.00	\$650.00	\$1,300.00	\$610.00	\$1,220.00
210-04010	ADJUST MANHOLE	1	EACH	\$1,658.00	\$1,658.00	\$4,500.00	\$4,500.00	\$3,000.00	\$3,000.00	\$2,240.00	\$2,240.00
212-00006	SEEDING (NATIVE)	1	ACRE	\$3,536.00	\$3,536.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,067.00	\$3,067.00
213-00012	SPRAY-ON MULCH BLANKET	1	ACRE	\$6,467.00	\$6,467.00	\$5,000.00	\$5,000.00	\$5,500.00	\$5,500.00	\$5,600.00	\$5,600.00
212-00700	ORGANIC FERTILIZER	100	LB	\$6.00	\$600.00	\$4.50	\$450.00	\$4.75	\$475.00	\$5.00	\$500.00
214	LANDSCAPING	0	L.S.	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
304-06000	AGGREGATE BASE COURSE (CLASS 6)	2203	TON	\$107.00	\$235,721.00	\$70.00	\$154,210.00	\$70.00	\$154,210.00	\$105.00	\$231,315.00
403-34621	HOT BIT PAVEMENT (GR SX) (50) (PG 58-28)	587	TON	\$239.00	\$140,293.00	\$170.00	\$99,790.00	\$187.00	\$109,769.00	\$240.00	\$140,880.00
403-34631	HOT BIT PAVEMENT (GR SX) (50) (PG 58-34)	806	TON	\$236.00	\$190,216.00	\$184.00	\$148,304.00	\$185.00	\$149,110.00	\$240.00	\$193,440.00
412-00600	CONCRETE PAVEMENT (6 INCH) WALK, APRONS MEDIANS	787	S.Y.	\$380.00	\$299,060.00	\$128.50	\$101,129.50	\$151.00	\$118,837.00	\$165.00	\$129,855.00
412-00900	CONCRETE PAVEMENT (9 INCH) BUS STOP; APRON	341	S.Y.	\$380.00	\$129,580.00	\$139.50	\$47,569.50	\$162.50	\$55,412.50	\$200.00	\$68,200.00
506-00206	RIPRAP (6 INCH)	3	C.Y.	\$1,507.00	\$4,521.00	\$500.00	\$1,500.00	\$350.00	\$1,050.00	\$1,300.00	\$3,900.00
603-01112	12 INCH REINFORCED CONCRETE PIPE (CIP)	47	L.F.	\$227.00	\$10,669.00	\$115.00	\$5,405.00	\$118.50	\$5,569.50	\$240.00	\$11,280.00
603-01185	18 INCH REINFORCED CONCRETE PIPE (CIP)	750	L.F.	\$243.00	\$182,250.00	\$140.00	\$105,000.00	\$125.00	\$93,750.00	\$240.00	\$180,000.00
603-05 18	18 INCH REINFORCED CONCRETE END SECTION	1	EACH	\$2,284.00	\$2,284.00	\$1,500.00	\$1,500.00	\$1,950.00	\$8,650.00	\$2,000.00	\$2,000.00
604-00305	INLET TYPE C (5 FOOT)	1	EACH	\$11,904.00	\$11,904.00	\$7,500.00	\$7,500.00	\$8,650.00	\$8,650.00	\$8,280.00	\$8,280.00
604-13005	INLET TYPE 13 (5 FOOT)	6	EACH	\$9,386.00	\$56,316.00	\$5,500.00	\$33,000.00	\$6,725.00	\$40,350.00	\$6,356.00	\$38,136.00
608-00000	CONCRETE SIDEWALK (4") DEPTH	372	S.Y.	\$253.00	\$94,116.00	\$68.50	\$25,482.00	\$88.00	\$32,736.00	\$72.00	\$26,784.00

PayItemID	PayItemDescription	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
608-00010	CONCRETE CURB RAMP	80	S.Y.	\$380.00	\$30,400.00	\$155.00	\$12,400.00	\$177.00	\$14,160.00	\$163.00	\$13,040.00
608-00015	DETECTABLE WARNINGS	240	S.F.	\$70.00	\$16,800.00	\$115.00	\$27,600.00	\$118.00	\$28,320.00	\$121.00	\$29,040.00
609-21010	CURB AND GUTTER TYPE 2 (SECTION I-B)	1320	L.F.	\$120.00	\$158,400.00	\$41.50	\$54,780.00	\$47.25	\$62,370.00	\$54.00	\$71,280.00
609-21011	CURB AND GUTTER TYPE 2 (SECTION I-M)	305	L.F.	\$120.00	\$36,600.00	\$67.00	\$20,435.00	\$73.10	\$22,295.50	\$87.00	\$26,535.00
609-21020	CURB AND GUTTER TYPE 2 (SECTION II-B)	1590	L.F.	\$120.00	\$190,800.00	\$41.50	\$65,985.00	\$47.25	\$75,127.50	\$63.00	\$100,170.00
613-00200	2 INCH ELECTRICAL CONDUIT	1333	L.F.	\$17.00	\$22,661.00	\$32.00	\$42,656.00	\$28.50	\$37,990.50	\$60.00	\$79,980.00
613-07060	PULL BOX (18"X30"X18") <del>DEE</del>	7	EACH	\$2,109.00	\$14,763.00	\$1,500.00	\$10,500.00	\$1,950.00	\$13,650.00	\$2,150.00	\$15,050.00
613-10000	WIRING	1	L.S.	\$14,762.00	\$14,762.00	\$100,000.00	\$100,000.00	\$51,600.00	\$51,600.00	\$110,000.00	\$110,000.00
613-13004	LUMINAIRE (LED) (4000 LUMENS)	2	EACH	\$4,218.00	\$8,436.00	\$2,425.00	\$4,850.00	\$2,100.00	\$4,200.00	\$2,556.00	\$5,112.00
613-13008	LUMINAIRE (LED) (8300 LUMENS)	6	EACH	\$4,218.00	\$25,308.00	\$1,550.00	\$9,300.00	\$1,275.00	\$7,650.00	\$1,626.00	\$9,756.00
613-34180	LIGHT STANDARD METAL (16 FOOT)	2	EACH	\$3,515.00	\$7,030.00	\$8,390.00	\$16,780.00	\$5,880.00	\$11,760.00	\$8,844.00	\$17,688.00
613-34300	LIGHT STANDARD METAL (30 FOOT)	6	EACH	\$4,218.00	\$25,308.00	\$6,390.00	\$38,340.00	\$3,900.00	\$23,400.00	\$6,734.00	\$40,404.00
613-40010	LIGHT STANDARD FOUNDATION	8	EACH	\$3,276.00	\$26,208.00	\$2,750.00	\$22,000.00	\$2,800.00	\$22,400.00	\$4,130.00	\$33,040.00
614-00011	SIGN PANEL (CLASS I)	302	SF	\$40.00	\$12,080.00	\$32.00	\$9,664.00	\$34.00	\$10,268.00	\$34.00	\$10,268.00
614-00200	STEEL SIGN POST (U-2)	37	EACH	\$422.00	\$15,614.00	\$350.00	\$12,950.00	\$350.00	\$12,950.00	\$365.00	\$13,505.00
614-03001	CONCRETE FOOTING (TYPE 1)	37	EACH	\$598.00	\$22,126.00	\$500.00	\$18,500.00	\$500.00	\$18,500.00	\$520.00	\$19,240.00
614-72862	PED PUSH BUTTON (SPEC)	12	EACH	\$352.00	\$4,224.00	\$1,000.00	\$12,000.00	\$862.00	\$10,344.00	\$1,051.00	\$12,612.00
614-80003	RECTANGULAR RAPID FLASHING BEACON	12	EACH	\$13,005.00	\$156,060.00	\$10,800.00	\$129,600.00	\$9,820.00	\$117,840.00	\$13,400.00	\$160,800.00
620-00020	SANITARY FACILITY	1	EACH	\$2,320.00	\$2,320.00	\$3,000.00	\$3,000.00	\$4,500.00	\$4,500.00	\$1,707.00	\$1,707.00
622-00100	SHADE SHELTER (BUS TRANIST SHELTER)	2	EACH	\$37,250.00	\$74,500.00	\$28,500.00	\$57,000.00	\$49,750.00	\$99,500.00	\$35,000.00	\$70,000.00
623-	IRRIGATION	0	L.S.	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
623-00604	4" PLASTIC PIPE (IRRIGATION/SLEEVE)	380	L.F.	\$82.00	\$31,160.00	\$37.00	\$14,060.00	\$30.00	\$11,400.00	\$45.00	\$17,100.00
625-00000	CONSTRUCTION SURVEYING	1	L.S.	\$46,113.00	\$46,113.00	\$30,000.00	\$30,000.00	\$35,680.00	\$35,680.00	\$68,881.00	\$68,881.00
626-00000	MOBILIZATION	1	L.S.	\$183,800.00	\$183,800.00	\$265,000.00	\$265,000.00	\$129,500.00	\$129,500.00	\$210,000.00	\$210,000.00
627-00005	EPOXY PAVEMENT MARKING	31	GAL	\$527.00	\$16,337.00	\$435.00	\$13,485.00	\$445.00	\$13,795.00	\$460.00	\$14,260.00
627-00070	PREFORMED THERMOPLASTIC PAVEMENT MARKING	923	S.F.	\$27.00	\$24,921.00	\$22.00	\$20,306.00	\$23.00	\$21,229.00	\$23.00	\$21,229.00
	TRAFFIC CONTROL	1	LS	\$773,178.00	\$773,178.00	\$226,565.00	\$226,565.00	\$231,000.00	\$231,000.00	\$400,000.00	\$400,000.00
	TOTAL				\$3,831,607.00		\$2,172,734.00		\$2,230,551.50		\$3,152,318.00
BID ALT	LOWER 8" DIP WATER MAIN	100	LF	\$602.00	\$60,200.00	\$325.00	\$32,500.00	\$137.00	\$13,700.00	\$388.00	\$38,800.00
	TOTAL WITH BID ALT				\$3,891,807.00		\$2,205,234.00		\$2,244,251.50		\$3,191,118.00
	BID SCHEDULE (DAYS)				120 DAYS		105 DAYS		60 DAYS		126 DAYS
	POTENTIAL START DATE					Can start anytime after 4/15/24, when the Access Permit is approved			4 and be complete ptember		

Arrowhea	d Metropolitan [	District Action Log		As Of:	4/4/24	
Item #	Responsible Party	Description	Date Issued	Date Due	Date Complete	Comments
2023-17	Hwy 6 Committee & Operations	obtain written ROW agreements for Hwy 6 project; need deeds to Land from VR	5/24/2023	4/1/2024		CCR - written agreement on file; VR - verbal agreement, JH to f/u on written; all committed if project moves forward; Collins needs has legal description; need CCR easement to go to State; JH to work with Matt to expedite. 3/27 Jhprelim prcels have been prepared and will be distributed to appropriate entities for approval
2023-25	Operations & Dir Warner	request correction to GPS sending vehicular traffic over mountain emergency exit road	9/27/2023			this issue may be seasonal
2023-30	Operations, Riggio	Maintenance and easement agreement between AMD and CDOT	12/13/2023	5/15/2024		VR in discussions so may not need agreement; needs maintence easement for storm sewer
2024-01	Operations	draft response to O'Loughlin request to add lighting on Sawatch Drive	1/24/2024			owenr called VR; JH to draft letter to owner and get guardrail pricing - see below item 2024-09
2024-02	Management; Todd G	prepare cash position in regard to project timeline	1/24/2024	4/8/2024		Todd Goudling preparing, need proposals
2024-06	Operations	Evening bus service between AH and BC Thurs thru Sun for 5 weeks	1/24/2024	3/14/2024	4/1/24	service changed to 2 weeks starting 3/14; 3/27 JH ridership first weekend was weak, Board req more communication efforts
2024-08	Operations, Management	Does the Service Plan need updated to include additionl maintenance responsibilities for roundabout	2/28/2024	10/30/2024	5/30/24	per AU, it needs updated; they are publishins a 45-day notice
2024-09	Operations	pricing for guardrail installation along ditch next to Sawatch Drive	2/28/2024			stems from O'Loughlin safety concern along Sawatch Drive; 3/27 JH should have bids soon
2024-10	Management	Ken M to provide Bachelor Springs contribution amounts for prior year to Vince R for meeting with BSHOA	3/27/2024			
2024-11	Operations	transportation report for season	3/27/2024	4/23/2024		
2024-12	Dir Riggio, Operations	meet with Bachelor Springs HOA board for discussion on alternative access options	3/27/2024	4/23/2024		VR and JH to meet with BSHOA board and report back at next meeting
2024-13	Management	post notice for special meeting 4/8	3/27/2024	4/7/2024	3/27/24	sent to website adminstrator
2024-14	Management Dir Rowe	questions on sales tax remittance from Zach's Cabin, incorrect rates charged at Alpine Club	3/27/2024			Dir Rowe to follow up with Alpine Club; Management to f/u with Vail Resorts
Long Torr	n Action Items					
A A	Vince Riggio	Highway 6 Safety Project	1/29/2020	10/31/2024		Work with, CDOT, Eagle County & EMD on approvals and funding for Rt 6 safety project; Expected construction start date 5/1, completion fall 2024
D	Operations	2022 Paving overlay 2 year warranty	6/20/2022	6/19/2024		
F	Operations	2023 Paving Overlay 2 year warranty	9/1/2023	9/1/2025		
	eting Discussio		Meeting	Action by		
3	Operations	Highway 6 Safety Crossing bid review	March	April		special meeting 4/8
5	Management, Audit Committee	2023 Audit Review and approval	May	June		draft received
9	Budget Committee (Roe & Horton)	Review and approve 2025 budget	September	November		
10	Operations and McPhetridge	Review 2024-25 transportation service plan	October	November		

# **Arrowhead Metropolitan District 2024 Meeting Schedule Approved**

Meetings start at 3:00 pm unless otherwise indicated

Meeting location: Office of Marchetti & Weaver, 28 Second St, Ste 213, Edwards Colorado or Zoom

To Join Zoom meeting: https://us02web.zoom.us/j/88998870889 OR https://zoom.us/join

Phone Only: US 253-215-8782 Meeting ID: 889 9887 0889

Month	<b>Meeting</b> Regular Meeting	Date			
January		January 24, 2024 February 28, 2024			
February March	Regular Meeting	March 27, 2024			
	Regular Meeting Safe Crossing Project Bid	•			
April (Remote Only)	Special Meeting Safe Crossing Proj Bids	April 8, 2024 at 3:30 pm			
April	Regular Meeting Transportation recap	April 24, 2024			
May	Regular Meeting Audit	May 29, 2024			
June	Regular Meeting	June 26, 2024			
July	Regular Meeting	July 24, 2024			
August	Regular Meeting	August 28, 2024			
September	Regular Meeting Budget review	September 25, 2024			
October	Regular Meeting Budget adoption, transporta	nticOctober 23, 2024			
December	Regular Meeting	December 4, 2024			
Holiday Meeting  Jan-24	Special Meeting  Feb-24  Mar-24	Apr-24			
S M T W T F S	S M T W T F S S M T W T F S	S M T W T F S			
1         2         3         4         5         6           7         8         9         10         11         12         13	4         5         6         7         8         9         10         3         4         5         6         7         8         9	1     2     3     4     5     6       7     8     9     10     11     12     13			
14 15 16 17 18 19 20	11 12 13 14 15 16 17 10 11 12 13 14 15 16	14 15 16 17 18 19 20			
21 22 23 24 25 26 27 28 29 30 31	18     19     20     21     22     23     24     17     18     19     20     21     22     23       25     26     27     28     29     24     25     26     27     28     29     30	21     22     23     24     25     26     27       28     29     30     30     30			
	31				
May-24	Jun-24 Jul-24	Aug-24			
S M T W T F S 1 2 3 4	S M T W T F S S M T W T F S 1 2 3 4 5 6	S M T W T F S 1 2 3			
5 6 7 8 9 10 11	2     3     4     5     6     7     8     9     10     11     12     13	4 5 6 7 8 9 10			
12     13     14     15     16     17     18       19     20     21     22     23     24     25	9 10 11 12 13 14 15 14 15 16 17 18 19 20 16 17 18 19 20 21 22 23 24 25 26 27	11     12     13     14     15     16     17       18     19     20     21     22     23     24			
19     20     21     22     23     24     25       26     27     28     29     30     31	16     17     18     19     20     21     22     21     22     23     24     25     26     27       23     24     25     26     27     28     29     28     29     30     31     31	18     19     20     21     22     23     24       25     26     27     28     29     30     31			
	30				
Sep-24	Oct-24 Nov-24	Dec-24			
S M T W T F S 1 2 3 4 5 6 7	S         M         T         W         T         F         S           1         2         3         4         5	S M T W T F S 1 2 3 4 5 6 7			
1     2     3     4     5     6     7       8     9     10     11     12     13     14	6     7     8     9     10     11     12     12     3     4     5     6     7     8     9	1     2     3     4     5     6     7       8     9     10     11     12     13     14			
15 16 17 18 19 20 21 22 23 24 25 26 27 28	13 14 15 16 17 18 19 20 21 22 23 24 25 26 17 18 19 20 21 22 23	15 16 17 18 19 20 21 22 23 24 25 26 27 28			
22     23     24     25     26     27     28       29     30	20     21     22     23     24     25     26     17     18     19     20     21     22     23       27     28     29     30     31     24     25     26     27     28     29     30	22     23     24     25     26     27     28       29     30     31			